PYReamiD A

250000 pucati Scrambler Nose Fairing

Kit Includes:
- 2X Mé x 12mm Flange headed bolts  CBOL0123
X M5 x 16mm Black boit CBOLD1463
1X M5 Anchor Nut © CNUTOtS52 .-
1X M5 Black Plastic Washer CWASDI00
“1X Mé Black Plastic Washer - CWAS0221

1X M6 X 4mm White Plastic Spacer CSPAGOO?
X Black Bracket - CFK250000 -

e Remove indicator fixings on both sides of the headlight {Fig 1).
® Remove the highlighted bolt (Fig 2} holding the small bracket situated under the bottom yoke.
® Fif the broacket using both the Mé x 12mm Flange Headed Bolts,
The Mé X 4mm White Plastic Spacer (fits at point A in Fig 3} & Mé Black Plastic Washer
{fits ot paint B in Fig 3) fit between the bracket and the bolf holes.
® Once dligned, fully tighten and place the M5 Anchor Nut in the last hole on the bracket.

® Now attach the Nose Fairing to the indicator mounting points using the original indicator fixings.

® Lastly, fit the M5 x 16mm Black Bolt & M5 Black Plastic Washer through the hole at the bottom of
the Nose Fairing and attach to the M5 Anchor Nut in the bracket.

sales@pyramid-plastics.co.uk
+44 (0)1427 677990
www.pyramid-plastics.co.uk




